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4 R ReA LR HOR 72 64 8 61 55 6 11 9 2
5 REHEHAR 69 62 7 25 23 2 44 39 5
6 KRB HAR S R 5 5 0 5 5 0 0 0 0
7 SRR I SN E5 N 68 64 4 19 18 1 49 46 3
2 8 THEHLZ% AR 37 33 4 32 31 1 5 2 3
9 THEHLN I HAR 107 95 12 98 90 8 9 5 4
10 PARIEAE AR 75 63 12 56 50 6 19 13 6
11 BB ZERORMNH] 4 4 0 4 4 0 0 0 0
12 HA B SIMEER 103 101 2 6 6 0 97 95 2
3 13 LT A LS 68 68 0 68 68 0 0 0 0
14 RUIGIGER & 3 174 172 2 172 170 2 2 2 0
15 KEHE S =1t 63 32 31 53 29 24 10 3 7
16 BT 5% 70 33 37 41 29 12 29 4 25
17 I s < i 60 37 23 60 37 23 0 0 0
! 18 [ s e 95 112 66 46 103 63 40 9 3 6
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5 23 RSG5 R ER 101 97 4 73 70 3 28 27 1
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25 Fre R 62 58 4 45 43 2 17 15 2

26 W TR 44 36 8 41 34 7 3 2 1
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30 2y EER 155 78 77 150 76 74 5 2 3
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